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1.3 & 20,283 18,753 1,530
1718} LA YRS 12,863 11,333 1,530
1. A oA Q1x1H] 12,863 11,333 1,530
1.2 78] 7,187 5,657 1,530
1.712HA1 4 11 A 6,668 5,138 1,530 r‘:’_);%%gziﬁii%ul ) 1,530,000
2. 71 A A LR AT 519 519 0
2. 712 A P17 5,676 5,676 0
1.7]1ZEA L 17 m] 5,676 5,676 0
2. 049 B2 gl gk} 7,420 7,420 0
1. w4 A wdst 3,380 3,380 0
1.A4&dF 3,380 3,380 0
1. 059 H 3,380 3,380 0
2. 03 8| 4,040 4,040 0
1.4 A3} A} 4,040 4,040 0
1.9 Rk8-] 2,000 2,000 0
2. 0S| 1,140 1,140 0
3. gRk - Fx1] 900 900 0
2. A BA /K AR} § A 40,726 50,115  -9,389
= 10,125 19,086  -8,961
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2. ] Z 8] W32 ] 9,425 18,386  -8,961
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1.3 B2 1) 100 100 0
2.3 17 A A 735 735 0
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2. 95 450 450 0
3. a5 H| 760 760 0
4. 3R A Y| 2,670 2,670 0
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138990 1,410 1,410 0
2. B A A 100 90 90 0
5. AAE&F 783 783 0
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1.9 =29 4,824 5,412 -588
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2. 87144 3,500 3,500 0
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4. [543 wA- 7,560 3,580 3,980
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1. 0o 250 250 0

2.3 AQLF 53,261 51,561 1,700
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1. 052G A 1,000 1,000 0

2. 4Rkl Fx] 250 250 0

3. 5] 2,700 2,700 0
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1. 0529 H 5,400 3,400 2,000 (%I‘i Eg;ﬁhgéggj‘%}%m + 200,000 2,000,000
2. BAA 100 600 600 0
3. [EA A EN UK 2,000 2,000 0
1.95% 1,664 1,664 0
2. WS- G 96 96 0
3. 5 AA 100 240 240 0
4. 5A18E 1,000 1,000 0
1. AT Es 500 500 0
1. 052G A 500 500 0
2.9 08 500 500 0
1.4 ¥kEgH 500 500 0
5. X7 d% 6,000 6,000 0
1.7 2 A% 8F 400 400 0
1. WS99 400 400 0
2 AR F 1,700 1,700 0
1.95% 300 300 0
2. 0S| 1,400 1,400 0
3. AR H A A A (A AA) 3,900 3,900 0
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2. 0 5$d | 1,500 1,500 0
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